SEAT

ALHAMBRA (710)

OEM

Info

F/R

Type

1K0 423 810A

with right-hand thread
Thread Size: M16x1,5
Length: 310 mm

12.1899 -10.2015

1K04113158B

Suspension Rod

1K0 423 811

Thread Measurement 1:M16x1,5
Thread Size 2: M12x1,5

1K0 423 811K

Thread Measurement 1:M16x1,5
Thread Size 2:M12x1,5

3C0407 365A

1K0 407 182

for controlarm

for controlarm

1KO0 505 465 C

Suspension Rod
withaccessories

1K0 505323 N

1K0 505553

for controlarm

3C0 505 541

for drag link
Mounting Type:Rubber-metal
Bearing

sy st 0 OBR D

=l
6303

5024

3033

3040

4019

1494

2023

2344

Type F/R Info OEM
@@E2P )| with right-hand thread 1K0 423 810 A
Thread Size: M16x1,5
Length: 310 mm
@2 | Suspension Rod 1K0 411 315 B
|
Thread Measurement 1:M16x1,5 1K0 423 812
Thread Size 2: M12x1,5
o |
Thread Measurement 1:M16x1,5 1K0 423 812K
Thread Size 2:M12x1,5
=l o) 3C0 407 366 A
|
@@2) 0| for controlarm 1K0 407 182
@@= for control arm
2 ®e»|suspension Rod 1KO 505 465 C
withaccessories
2 1K0 505 323 N
23 for controlarm 1K0 505 553
0 | for drag link 3C0 505 541
Mounting Type:Rubber-metal
Bearing
=) 6303
)
%4 5024
3034
3041
S5
1494
2023
2344




ALHAMBRA (710)

SEAT

12.1899 -10.2015

ALHAMBRA (7V8,7V9) 04.1996 - 10.2015
OEM Info F/R Type Type F/R Info OEM
7M3 422 803 =l 6095 6095 =l 7M3 422 803
7MO0 422 803 F =l 11076 11077 =l 7MO0 422 804 F
7MO0 411 317 C |Suspension Rod etV i Vo) Suspension Rod 7M0 411 317C
. . 5460 5460 . .
withaccessories withaccessories
7MO0 422 817 A |with right-hand thread aimie) 3162 3163 @@im | with right-handthread 7M0 422 818 A
7MO0 407 365 A el 4075 4075 aimie) 7MO0 407 365 A
7MO 407 151 B |Control Arm P @@z | Control Arm 7M0 407 152 B
Cast Steel Cast Steel
with rubber mounting 1299 1300 with rubber mounting
only with: 16610 only with: 16610
Orderseparately: Orderseparately:
7M0 407 181 |for controlarm etz Vo) 2175 2175 @@ia .| for control arm 7M0 407 181
7MO0 501 541 izl 2176 2176 =l o, 7MO0 501 541

‘!@;
6095 u

11076

5460

=

w 6095

©
hm& 11077
A

5460
L& ‘




SEAT

| ALHAMBRA (7V8,7V9)

3162

4075

1299

2175

2176

ALTEA / AL

OEM

EA XL (5P1, 5P5, 5P8)

Info

F/R

Type

1K0 423 810A

with right-hand thread
Thread Size: M16x1,5
Length: 310 mm

‘i;

04.1996 - 10.2015

3163

4075

1300

2175

2176

12.1899 - 04.2015

1K0 411 315 B |Suspension Rod =l o)
1K0 423 8111 Thread Measurement 1:M16x1,5 sl
Thread Size 2: M12x1,5
1K0 407 365 B aimie)
1K0 407 151 AB aimie)
1K0 407 151 AA | Control Arm =l
Sheet Steel
1K0 407 151 AC e
1K0 501 529 F o)
1K0 199 231G o)
1K0 407 182 |for controlarm =)
1K0 505 465 C |Suspension Rod e =
withaccessories
1K0 505 323 N o I
1K0 505553 [for controlarm o
1K0 505 171 C |for controlarm o
1K0 505 203 A |for controlarm o
1K0 505 279 A |for controlarm o
1K0 505 541 B |for drag link =
=
6303

Type F/R Info OEM
with right-hand thread 1K0 423 810A
Thread Size: M16x1,5
Length: 310 mm
@@’ | suspension Rod 1K0 411 315 B
el Thread Measurement 1:M16x1,5 1K0 423 812)
Thread Size 2: M12x1,5
amie) 1K0 407 366 B
amie) 1K0 407 152 AA
@@ia | Control Arm 1K0 407 152 AA
Sheet Steel
o) 1K0 407 152 AC
o) 1K0 501 530 C
o) 1K0 199 232G
@2 for control arm 1K0 407 182
& 3| suspension Rod 1KO 505 465 C
withaccessories
o I 1K0 505 323 N
2 3 for controlarm 1K0 505 553
2 3 for controlarm 1K0 505171 C
2 3 for controlarm 1K0 505 203 A
2 3 for controlarm 1K0 505 279 A
2 ) for drag link 1K0 505 541 B

6303




SEAT

ALTEA / ALTEA XL (5P1, 5P5,5P8) 12.1899 - 04.2015

[

5024
= b ey g ) ¥
3033 o 3034
& 2
4017 w 4018
Seee eee e
1044 1043
1037 1038
1039 1040
1533 1534
2027 2028
2023 2023
o /o))
5452 5452
1027 1027
2022 2022




SEAT

ALTEA / ALTEA XL (5P1, 5P5,5P8)

12.1899 - 04.2015

2024

2025

2026

2015

05.1997 - 04.2015

2024
2025
2026
2015
AROSA (6H)
OEM Info F/R Type
6NO 422 803 D |Length: 264,5 mm =l )|
Thread Size 2: M14x1,5
withaccessories
6NO 422 803 C | Thread Size 2:M14x1,5 i)
withaccessories
6NO 422 804 A [Length: 290 mm =G|
Outer Thread: M14x1,5mm
6X0422807 [\ o5 =)
Pipe @: 14,4 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
6NO0 419 803 |withaccessories o)
6X0 419 803 |withaccessories o)
6NO 422 803 A =l
6X0 422 803 |withaccessories =l )|
6N0 422 803 C |withaccessories aml )|
6N0 419811 |Length: 74 mm am )|
Cone Size: 14mm
Inner Thread: M14x1,5mm
with right-hand thread
withaccessories
6X0422811 [\ 04 mm i )
Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5
6E0 419811 |withaccessories aimie)
6NO 407 365 A |withaccessories am o)
6NO 407 151 |Control Arm o)
without ball joint, withrubber
mounting
only with: 13791,13790
Sheet Steel
6NO 407 151A [\ iz )|
only with: 13790,13791
with rubber mounting, without ball
joint, without fastening material
Sheet Steel
6N0 407 181 |Mounting Type:Rubber-metal e
Bearing
6N0 407 182 [Mounting Type:Rubber-metal i )|
Bearing
‘.
6251 ©

Type F/R Info OEM
@@=’ Length: 264,5 mm 6NO 422 803 D
Thread Size 2: M14x1,5
withaccessories
@@= | Thread Size 2: M14x1,5 6NO0 422 803 C
withaccessories
@@L’ | Length: 290 mm 6NO 422 804 A
Outer Thread: M14x1,5mm
oo Length: 275 mm 6X0 422 807
Pipe @: 14,4 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
@@ia ' | withaccessories 6NO 419 804
@@ia .| withaccessories 6X0 419 804
o) 6NO 422 804 A
@@ia | withaccessories 6X0 422 804
@@ia ' | withaccessories 6N0 422 804 C
@@z’ | Length: 74 mm 6NO 419 812
Cone Size: 14 mm
Inner Thread: M14x1,5mm
with right-hand thread
withaccessories
P = e Length: 94 mm 6X0 422 812
Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5
@2 )| withaccessories 6E0 419 812
@i’ | withaccessories 6NO0 407 365
@@Z2’ | Control Arm 6NO0 407 151
without ball joint, withrubber
mounting
only with: 13791,13790
Sheet Steel
il o)) 6N0 407 151 A
Control Arm
only with: 13790,13791
with rubber mounting, without ball
joint, without fastening material
Sheet Steel
@@= Mounting Type: Rubber-metal 6NO 407 181
Bearing
P Mounting Type:Rubber-metal 6NO 407 182
Bearing
[ & ) 6251




6252 3 © 6252

6253 6253
6254 6254
11150 11151
11152 11153
11154 11155

11156

11158 . 11159

3425 3426
3427 3428
3023 3024
4191 4192
1495 1495

1496 1496




SEAT

2346

2347

CORDOBA (6K1, 6K2)

OEM

Info

F/R

Type

Type F/R

2347

02.1993 -10.1999

Info

OEM

191 419803

Manufacturer Restriction: ZF
Length: 324 mm

Thread Size: M22x1,5

with right-hand thread

for OE No.: 025 390 049 617LH
Axle Vers.: ZF

Manufacturer Restriction: ZF
Length: 324 mm

Thread Size: M22x1,5

with right-hand thread

for OE No.: 025 390 049 617LH
Axle Vers.: ZF

191 419803

191422 803 A

with right-hand thread

Thread Measurement 1:M12x1,5
Thread Size 2: M14x1,5

Length: 315 mm

Manufacturer Restriction: TRW

:

with right-hand thread

Thread Measurement 1:M12x1,5
Thread Size 2: M14x1,5

Length: 315 mm

Manufacturer Restriction: TRW

191422 803 A

6K0 422 803

Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

6K0 422 803

6K0 422 803 E

Length: 298 mm
Thread Size:M14x1,5

Length: 298 mm
Thread Size:M14x1,5

6K0 422 803 E

191 422 804

Suspended

Manufacturer Restriction: TRW
Tube diameter at bellows seating
12,7 mm (TRW-steering)

1

Suspended

Manufacturer Restriction: TRW
Tube diameter at bellows seating
12,7 mm (TRW-steering)

191 422 804

191 419 803

withaccessories

withaccessories

191 419 804

191422 803

Suspended

Manufacturer Restriction: TRW
Pipe @: 14 mm

Axle Vers.: TRW

Tube diameter at bellows seating
12,7 mm (TRW-steering)

i

Suspended

Manufacturer Restriction: TRW
Pipe @: 14 mm

Axle Vers.: TRW

Tube diameter at bellows seating
12,7 mm (TRW-steering)

191422 803

6K0 422 803 A

6K0 422 804 A

6K0 422 803 B

6K0 422 804 B

6K0 422 803

6K0 422 804

191419811

Suspended

Length: 74 mm

Cone Size: 14mm

Inner Thread: M14x1,5mm
with right-hand thread
withaccessories

Thread Size:M14x1,5

Suspended

Length: 74 mm

Cone Size: 14 mm

Inner Thread: M14x1,5mm
with right-hand thread
withaccessories

Thread Size:M14x1,5

191419812

withaccessories

1J0422 812E

1J0 422 811E

with right-hand thread
withaccessories

191407 151 8B

Control Arm

without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

bR ERN

Control Arm

without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

191407 1518B

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

for controlarm
Mounting Type:Rubber-metal
Bearing

191 407 182

191407 181D

for controlarm

[

for controlarm

191 407 181D

=

6255

cp—— s o

—— s o

6255




6256

y
b

6257

(,,

11164
11166 ", |
11168 i‘
5412 -T- ©
3430
3432
1497

SEAT

6256

11165

3429

3431

1497



SEAT

| CORDOBA (6K1, 6K2)

02.1993 - 10.1999

2013

2348

06.1999 - 02.2015

2013
2348
CORDOBA (6K2, 6K5)
OEM Info F/R Type
6K0 422 803 E |Length: 298 mm =l
Thread Size:M14x1,5
6K0422803 [ o8 mm =)
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
6K0 422 803 B o)
6K0 422 803 F o)
191 419803 |withaccessories =)
6K0 422 803 A =)
191419811 |Suspended a=l |
Length: 74 mm
Cone Size: 14mm
Inner Thread: M14x1,5mm
with right-hand thread
withaccessories
Thread Size:M14x1,5
i)
am )|
am )|
1J0 422 811E | with right-hand thread =l )|
withaccessories
6K0 422811 [\ 04 imm =)
Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5
withaccessories
1J0 422 811E | with right-hand thread =l )|
withaccessories
1J0 422 811E |with right-handthread i )|
withaccessories
6E0 419811 |withaccessories aml )|
191 407 151 B |Control Arm i)
without ball joint, withrubber
mounting
only with: 10169, 10161
Sheet Steel
191 407 182 |for controlarm =l o)
Mounting Type:Rubber-metal
Bearing
agE o
6258 S
6257 o
11166 I

Type F/R Info OEM
@@LEl | Length: 298 mm 6KO0 422 803 E
Thread Size:M14x1,5
Length: 298 mm 6K0 422803
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
aimie) 6K0 422 804 B
izl 6K0 422 804 F
@@L2 )| withaccessories 191 419 804
o) 6K0 422 804 A
=) Suspended 191 419 812
Length: 74 mm
Cone Size: 14 mm
Inner Thread: M14x1,5mm
with right-hand thread
withaccessories
Thread Size:M14x1,5
@@la )| withaccessories 1J0422 812
@@ia ' | withaccessories 1J0422 812
@@ia ' | withaccessories 1J0422 812
=)
i) Length: 94 mm 6K0 422 812
Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5
withaccessories
=)
i lo)
@@L2 | withaccessories 6E0 419 812
@@’ .| Control Arm 191 407 151 B
without ball joint, withrubber
mounting
only with: 10169, 10161
Sheet Steel
@@L’ | for controlarm 191 407 182
Mounting Type:Rubber-metal
Bearing
'® 6258
o 6257
‘ﬂ -




11170

11160

11164

3430

3432

3432

3432

3023

1497

2013

|

1 4 JJJL\I

SEAT

L] ‘ 11171

11163

11165

3429
3431
3431

3431

3434

3024

2013




SEAT

CORDOBA (6L2)

OEM

Info

F/R

Type

6Q0 423 803 A

for steering gear ID: SMI-Koyo
Length: 276,5 mm

Outer Thread: M14x1,5mm
Thread Size:M16x1,5

Type F/R

09.2002 - 09.2015

Info

OEM

6Q0 423 803 E

for steering gear ID: TRW

Length: 275 mm

Thread Size 2: M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

9

for steering gear ID: SMI-Koyo
Length: 276,5 mm

Outer Thread: M14x1,5mm
Thread Size:M16x1,5

6Q0 423 803 A

6Q0 423 803 E

for steering gear ID: TRW
Electric-hydraulic
withaccessories

for steering gear ID: TRW

Length: 275 mm

Thread Size 2: M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

6Q0423 803 E

6Q0 423 803 C

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

for steering gear ID: TRW
Electric-hydraulic
withaccessories

6Q0423 804 E

6Q0411315A

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size:M10

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

6Q0 423 804 C

6Q0419811C

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5

HEE

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size: M10

6Q0411315A

6R0 407 151

HEE

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5

6Q0419812C

6Q0 407 151D

with rubber mounting
Sheet Steel
Control Arm

6R0 407152

6Q0 407 182 A

for controlarm

with rubber mounting
Sheet Steel
Control Arm

6Q0 407 151D

6Q0 407183

for controlarm

for controlarm

6Q0 407 182 A

1K0 407 183 E

for control arm
Replace in pairsonly:

Ll

for controlarm

6Q0 407 183

=

6259

6260

11172

11174

5019

3435

1499

I

1EH

for control arm

Replace in pairsonly:

1K0 407 183 E

——
T
o

6259

6260

11173

‘ 11175

a
I o

5019

3436

1500




SEAT

| CORDOBA (612)

1498

2349

2351

EXEO (3R2, 3R5)

OEM

Info

F/R

Type

8E0422821C

Thread Size: M14x1,5
with right-hand thread

09.2002 - 09.2015

1498

2349

2350

2351

12.1899 -08.2015

8E0 411317

4F0419 811D

Outer Thread: M14x1,5mm
with right-hand thread

8E0 407 509 P

Control Arm
with rubbermounting

8E0 407 505 P

Control Arm
with rubber mounting

8E0 407 693 AL

Control Arm
with rubber mounting
Length: 385 mm

8E0 407 151 R

Control Arm
with rubber mounting
Aluminium

4D0 407 182G

for controlarm

8E0 407 181C

Mounting Type:Rubber-metal
Bearing

for controlarm

Outer Diameter: 37 mm

Inner Diameter: 30 mm
Height: 40,4 mm

Wt RbEEND

8E0 505 203 D

for controlarm

8EQ 505 465 AF

8E0 501 529 P

Control Arm

8E0 50154158

Mounting Type:Rubber-metal
Bearing
for controlarm

et

Type F/R Info OEM
@@ia ") Thread Size: M14x1,5 8E0 422 821C
with right-handthread
i) 8E0 411318
@@=)| Outer Thread: M14x1,5 mm 4F0 419 811D
with right-hand thread
@@ia " Control Arm 8E0 407 510 P
with rubber mounting
@@= | Control Arm 8E0 407 506 P
with rubber mounting
@@ | Control Arm 8E0 407 694 AL
with rubber mounting
Length: 385 mm
Thread Size:M12x1,5
@@= )| Control Arm 8E0 407 151 R
with rubber mounting
Aluminium
@@= for control arm 4D0 407 182G
=l o)) Mounting Type:Rubber-metal 8E0 407 181C
Bearing
for controlarm
Outer Diameter: 37 mm
Inner Diameter: 30 mm
|Height: 40,4 mm
@@= for controlarm 8E0 505 203 D
o By 8EO 505 465 AF
23| Control Arm 8E0 501 529 P
o Mounting Type:Rubber-metal 8E0 501 541S
Bearing

for controlarm




SEAT

| EXEO (3R2, 3R5) 12.1899 - 08.2015
=
6013

5027 5028
3036 3036
1054 1053
1056 1055
1064 1065
1058 1058
2030 2030
2038 2038
2043 2043
5029 5029
1059 1059



SEAT

01.1982 -12.1986

FURA (025A)

01.1982 -12.1986

FURA (025A)
OEM Info Info OEM
5958246 with right-hand thread with right-hand thread 5958 246
Thread Size: M10x1 Thread Size: M10x1
7 558962 Control Arm Control Arm 7 558962
without bush without bush
Thread Size:M12x1,5 Thread Size: M12x1,5

=

3046 3046

1238

1238

08.1991 - 07.1998

Info Info OEM
1HO 422 803 B |Length: 341 mm Length: 341 mm 1HO0 422 803 B
Thread Size: M14x1,5 Thread Size: M14x1,5
with right-hand thread with right-hand thread
for OE No.: 025390 111 617LH for OE No.: 025390 111 617LH
Manufacturer Restriction: ZF Manufacturer Restriction: ZF
Tube diameter at bellows seating 15 Tube diameter at bellows seating 15
mm (ZF-steering) mm (ZF-steering)
agEmlc
6261 - —_—g- 6261

07.1993 - 05.1998
Info OEM
Length: 341 mm 1HO0 422 803 B
Thread Size: M14x1,5

with right-hand thread

for OE No.: 025390 111 617LH
Manufacturer Restriction: ZF

Tube diameter at bellows seating 15
mm (ZF-steering)

GOLF lll Cabriolet / GOLF IV Cabriolet (1E7)
OEM Info

1HO0 422 803 B |Length: 341 mm

Thread Size: M14x1,5

with right-hand thread

for OE No.: 025390 111 617LH

Manufacturer Restriction: ZF

Tube diameter at bellows seating 15

mm (ZF-steering)




SEAT

IBIZA 1 (021A)

OEM

06.1984 -12.1993

OEM

7 558 962

IBIZA Il (6K1)

Control Arm
without bush
Thread Size:M12x1,5

Control Arm
without bush
Thread Size: M12x1,5

7 558 962

03.1993 - 08.1999

Type F/R

1238

03.1993 - 08.1999

Info

OEM

Manufacturer Restriction: ZF
Length: 324 mm

Thread Size: M22x1,5

with right-handthread

for OE No.: 025 390 049 617LH
Axle Vers.: ZF

191 419803

1238 ®
IBIZA 11 (6K1)
OEM Info F/R Type
191 419 803 |Manufacturer Restriction:ZF =l )|
Length: 324 mm
Thread Size: M22x1,5
with right-handthread
for OE No.: 025 390 049 617LH
Axle Vers.: ZF
191 422 803 A P =

with right-hand thread

Thread Measurement 1:M12x1,5
Thread Size 2: M14x1,5

Length: 315 mm

Manufacturer Restriction: TRW

:

with right-hand thread

Thread Measurement 1:M12x1,5
Thread Size 2: M14x1,5

Length: 315 mm

Manufacturer Restriction: TRW

191422 803 A

6K0 422 803

Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

6K0 422 803

6K0 422 803 E

Length: 298 mm
Thread Size:M14x1,5

Length: 298 mm
Thread Size:M14x1,5

6K0 422 803 E

191 422 804

Suspended

Manufacturer Restriction: TRW
Tube diameter at bellows seating
12,7 mm (TRW-steering)

Suspended

Manufacturer Restriction: TRW
Tube diameter at bellows seating
12,7 mm (TRW-steering)

191 422 804

191 419 803

withaccessories

withaccessories

191 419 804

191 422 803

Suspended

Manufacturer Restriction: TRW
Pipe @: 14 mm

Axle Vers.: TRW

Tube diameter at bellows seating
12,7 mm (TRW-steering)

hhb &

IR

Suspended

Manufacturer Restriction: TRW
Pipe @: 14 mm

Axle Vers.: TRW

Tube diameter at bellows seating
12,7 mm (TRW-steering)

191 422 803

6K0 422 803 A

6K0 422 804 A

6K0 422 803 B

6K0 422 804 B

6K0 422 803

6K0 422 804

191 419811

Suspended

Length: 74 mm

Cone Size: 14 mm

Inner Thread: M14x1,5mm
with right-hand thread
withaccessories

Thread Size:M14x1,5

L

Suspended

Length: 74 mm

Cone Size: 14mm

Inner Thread: M14x1,5mm
with right-hand thread
withaccessories

Thread Size:M14x1,5

191 419 812

withaccessories

1J0422 812E

1J0422 811E

with right-hand thread
withaccessories

191407 151 8B

Control Arm

without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

HEb  ERNI

b

Control Arm

without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

191407 151 8B

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

for controlarm
Mounting Type:Rubber-metal
Bearing

191 407 182

191407 181D

for controlarm

[l

I !

for controlarm

191407 181D

- St

6255

—— e

——

6255




6256

6257

6258

11161

11160

11162

11164

11166

11168

5412

3430

1497

SEAT

6256

11165

11167

11169

5412

3429

3431

1497



| IBIZA 11 (6K1)

2013 2013
2348 2348
IBIZA 111 (6K1) 08.1999 - 02.2015
OEM Info Type Type F/R Info OEM
6K0 422 803 E |Length: 298 mm Length: 298 mm 6K0 422 803 E
Thread Size:M14x1,5 Thread Size:M14x1,5
191419803 |withaccessories @@a "0 | withaccessories 191 419 804
6K0 422 803 B e ) 6K0 422 804 B
6K0 422 803 F i) 6K0 422 804 F
191419811 |Suspended @@=’ | Suspended 191 419 812
Length: 74 mm Length: 74 mm
Cone Size: 14 mm Cone Size: 14 mm
Inner Thread: M14x1,5mm Inner Thread: M14x1,5mm
with right-hand thread with right-hand thread
withaccessories withaccessories
Thread Size:M14x1,5 Thread Size:M14x1,5
@@ia ' | withaccessories 1J0 422 812
1J0 422 811E |with right-hand thread i io))
withaccessories
6K0 422811 || 00 =l Length: 84 mm 6K0 422 812
Thread Measurement 1:M14x1,5 Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5 Thread Size 2: M12x1,5
withaccessories withaccessories
6E0 419811 |withaccessories @i’ | withaccessories 6E0 419 812
191407 151 B |Control Arm @@ia | Control Arm 191407 151 B
without ball joint, withrubber without ball joint, withrubber
mounting mounting
only with: 10169,10161 only with: 10169,10161
Sheet Steel Sheet Steel
191 407 182 |for controlarm @@= | for controlarm 191 407 182
Mounting Type:Rubber-metal Mounting Type:Rubber-metal
Bearing Bearing

IBIZA 111 (6K1) 08.1999 - 02.2015

6258 ® ® 6258

11160 : - . - ‘ 11163

11166 l° °' 11167
L] ‘ 11171

11170 k



| 1BIZA 11l (6K1)

3432

3433

3023

1497

2013

IBIZA IV (6L
OEM

o
2
o
N
7

)

Info

Type

6Q0 423 803 A

for steering gear ID: SMI-Koyo
Length: 276,5 mm

Outer Thread: M14x1,5mm
Thread Size:M16x1,5

Type F/R

SEAT

08.1999 - 02.2015

3434

3024

1497

2013

02.2002 - 09.2015

Info

OEM

6Q0 423 803 E

for steering gear ID: TRW

Length: 275 mm

Thread Size 2: M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

;

for steering gear ID: SMI-Koyo
Length: 276,5 mm

Outer Thread: M14x1,5 mm
Thread Size: M16x1,5

6Q0 423 803 A

6Q0 423 803 E

for steering gear ID: TRW
Electric-hydraulic
withaccessories

;

for steering gear ID: TRW

Length: 275 mm

Thread Size 2: M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

6Q0423 803 E

6Q0 423 803 C

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

for steering gear ID: TRW
Electric-hydraulic
withaccessories

6Q0423 804 E

6Q0411315A

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size:M10

9

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

6Q0 423 804 C

6Q0419811C

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5

:

9

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size: M10

6Q0411315A

6R0 407 365

:

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5

6Q0419812C

6R0 407151

6R0 407 366

6Q0 407 151D

with rubber mounting
Sheet Steel
Control Arm

6R0 407 152

6Q0 407 182 A

for controlarm

with rubber mounting
Sheet Steel
Control Arm

6Q0407 151D

6Q0 407 183

for controlarm

for controlarm

6Q0 407 182 A

1KO0 407 183 E

for control arm
Replace in pairsonly:

for controlarm

6Q0 407 183

=
6259

6260

———

e i

for control arm
Replace in pairsonly:

1K0 407 183 E

——

e i

o

6259

6260




11173

11174 i ‘ 11175
Q
5019 #ﬁ 5019
% 3436
S : e

4015

11172

|

3435

1500

1498

2349

2350

2351 2351




IBIZA V (6J5, 6)1,6)8)

OEM

Info

Type

6R0 423 803 C

for vehicles with electro-hydraulic
steering

SEAT

12.1899 - 08.2015

6R0 423 803 A

6Q0411315A

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size:M10

6Q0419811C

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5

6R0 407 365

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

1J0 407 181

for controlarm

=
6005

11007

5019

3435

4014

2013

2014

Type F/R Info OEM
for vehicles with electro-hydraulic 6R0 423 803 C
steering
s 6RO 423 804 A
@@ | Suspension Rod 6Q0 411315 A
Length: 270 mm
Diameter [mm]: 9
Thread Size:M10
Length: 94 mm 6Q0419812¢C
Cone Size: 16 mm
Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5
P = e 6RO 407 366
@@ for control arm 191 407 182
Mounting Type:Rubber-metal
Bearing
@@= for control arm 1J0 407 181
© 6005
. ® . ‘ 11008
5019
/ .
\‘* 4015
2013
Q 2014




SEAT

11.1995 -03.2015

Type Info OEM

Length: 298 mm 6K0 422803
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

=l )| 6K0 422 804 A

@@Ll | withaccessories 1J0 422 812 E

e |

=l 6K0 422 812

Length: 94 mm

Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5
withaccessories

P

Control Arm

without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

191407 1518

INCA (6K9)
OEM Info F/R Type
6K0 422803 Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
6K0 422 803 A )|
i )|
1J0 422 811E |with right-hand thread P = e
withaccessories
6K0 422811 || o0 =l o)
Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5
withaccessories
191407 151 B |Control Arm =l )|
without ball joint, withrubber
mounting
only with: 10169,10161
Sheet Steel
191407 182 |for controlarm P
Mounting Type:Rubber-metal
Bearing
191 407 181 D |for controlarm aml )|

=l

for controlarm
Mounting Type:Rubber-metal
Bearing

191 407 182

=

6257

11164

=l )|

for controlarm

191407 181D

6257

11165

3431

3434

1497

2013

2348




LEON (1M1)
OEM

Info

F/R

Type

1J0422 803 B

Type F/R

SEAT

11.1999 - 06.2015

Info

OEM

8N0 422 807 D

for vehicles with sports suspension
Rim Size: 18Inch

1J0422 803 B

8N0 422 803D

for vehicles with sports suspension
Rim Size: 18Inch
withaccessories

1J0422 803 E

1J0411315D

SuspensionRod

1J04228118B

Suspended
Inner Thread: M14x1,5mm
with right-hand thread

8N0 422 811A

Inner Thread: M16x1,5mm
with right-hand thread

8N0 407 365 A

Cone Size: 20,24 mm
with fastening material

1J0407 151 A

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

1J0 407 181

for controlarm

1J0 407 181 SP

for controlarm

HITINEEE

=
6009

6306

11017

11026

11176

5022

3032

for controlarm

i o)) 1J0 422 803 B
o) o . 8NO0 422 807 D
for vehicles with sports suspension
Rim Size: 18Inch
i) 1J0 422 804 B
=G| 8NO 422 804 D
for vehicles with sports suspension
Rim Size: 18 Inch
il o)) 1J0 422 804 E
@@ia | Suspension Rod 1J0 411316 D
Length: 338 mm
Diameter [mm]: 10
@@ia | Suspended 104228128
Inner Thread: M14x1,5mm
with right-hand thread
@@ Inner Thread: M16x1,5mm 8NO0 422 812 A
with right-hand thread
@@a " | Cone Size: 20,24 mm 8NO 407 365 A
with fastening material
il o)) 1J0 407 151 A
@@= for control arm 191 407 182
Mounting Type:Rubber-metal
Bearing
@@= for control arm 1J0 407 181
e lo))

1J0 407 181 SP

6009

———-t> 6306

i 11018
e
‘ 11027

5023

3031



SEAT

‘ LEON (1M1) 11.1999 - 06.2015
3504 4 3030
é e
4016 ?/; 4016
2 @oge
1036 1036
2013 2013
2014 2014
2021 2021
LEON (1P1) 12.1899 - 05.2015
OEM Info F/R Type Type F/R Info OEM
1K0 423 810 A |with right-hand thread e o) @@= " | with right-hand thread 1K0 423 810 A
Thread Size: M16x1,5 6303 6303 Thread Size: M16x1,5
Length: 310 mm Length: 310 mm
1KO0 411 315 B |Suspension Rod izl 5024 5024 @@= | Suspension Rod 1K0 411 315 B
=l =)
1K0423811) Thread Measurement 1:M16x1,5 3033 3034 Thread Measurement 1:M16x1,5 1K0 423 812)
Thread Size 2:M12x1,5 Thread Size 2: M12x1,5
1KO0 407 365 B agia o) 4017 4018 el o) 1KO0 407 366 B
3C0 407 365 A etz Vo) 4019 4020 etz Vo) 3C0 407 366 A
1K0 501 529 F etz Vo) 1533 1534 etz Vo) 1K0 501 530 C
1K0 199 231 G etz Vo) 2027 2028 etz Vo) 1K0 199 232 G
1K0 407 182 |for controlarm etz Vo) 2023 2023 @@ia .| for control arm 1KO 407 182
1K0 505 465 C |Suspension Rod B & ®e»|suspension Rod 1K0 505 465 C
i ) 5452 5452 ) )
Wlth accessories Wlth accessories
1K0 505 323 N I 7 1027 1027 B = 1K0 505 323 N
1KO0 505 553 |for control arm B = 2022 2022 & B for controlarm 1K0 505 553
1K0 505 171 C |for controlarm . 7 2024 2024 2 3 for control arm 1K0 505 171 C
1K0 505 203 A |for controlarm . 7 2025 2025 2 3 for control arm 1K0 505 203 A
1K0 505 279 A |for controlarm . 7 2026 2026 2 3 for control arm 1K0 505 279 A
1KO0 505 541 B |for drag link I 7 2015 2015 0 B for drag link 1KO 505 541 B
=V o m m
6303 < < 6303
= b
5024 F - —"4 F - —4 5024




SEAT

LEON (1P1) 12.1899 - 05.2015

3033 3034
4017 4018
4019 4020
1533 1534
2027 2028
2023 2023
R /3
5452 5452
1027 1027
2022 2022
2024 2024
2025 2025
2026 2026




SEAT

| MARBELLA (28, 028A) 08.1986 - 10.1998

“adl

2015 2015

MARBELLA (28,028A) 08.1986 - 10.1998

OEM Info F/R Type Type F/R Info OEM
5960 834 el o)) 3143 3143 el o)) 5960 834
4402644 =) 4024 4024 =l )| 4402 644
4402672 |Control Arm =i @@= | Control Arm 4402672

1540 1540
Steel Steel
4!@;
3143 3143
4024 4024

1540 1540
Mii (KF1_) 12.1899 - 11.2015
OEM Info F/R Type Type F/R Info OEM
150423 811 A =l 3437 3438 =l 150 423 812 A
6R0 407 365 =l 4014 4015 =l 6R0 407 366
191 407 182 |for controlarm etV @@= | for controlarm 191 407 182
Mounting Type:Rubber-metal 2013 2013 Mounting Type:Rubber-metal
Bearing Bearing
1J0 407 181 |for controlarm izl 2014 2014 @@Ls | for control arm 1J0 407 181
ﬁl@;
T
3437 / 3438
4014 * 4015
o ©
2013 2013

2014 2014



SEAT

RONDA (022A)

Type

F/R

Info

06.1982 -11.1988

OEM

Control Arm
without bush
Thread Size: M12x1,5

7 558 962

01.1987 -12.1996

1238

OEM Info
7 558962 Control Arm
without bush
Thread Size:M12x1,5
ag=
1238
TERRA (24, 024A)
OEM Info
4402 644
4402672 Control Arm
Steel
am=
4024

Info

F/R

Type

Type F/R Info OEM
o=l 4402 644
@@L’ | Control Arm 4402672

Steel
4024
1540

Type

F/R

01.1991 -10.1999

Info

OEM

1H0 422 803 B

Length: 341 mm

Thread Size: M14x1,5

with right-hand thread

for OE No.: 025390 111 617LH
Manufacturer Restriction: ZF

Tube diameter at bellows seating 15
mm (ZF-steering)

Length: 341 mm

Thread Size: M14x1,5

with right-hand thread

for OE No.: 025390 111 617LH
Manufacturer Restriction: ZF

Tube diameter at bellows seating 15
mm (ZF-steering)

1H0 422 803 B

6K0 422 803

Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

Length: 298 mm
Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5

6K0 422 803

191 422 804

Suspended

Manufacturer Restriction: TRW
Tube diameter at bellows seating
12,7 mm (TRW-steering)

;

Suspended

Manufacturer Restriction: TRW
Tube diameter at bellows seating
12,7 mm (TRW-steering)

191 422 804

191 419 803

withaccessories

withaccessories

191 419 804

191 422 803

Suspended

Manufacturer Restriction: TRW
Pipe @: 14 mm

Axle Vers.: TRW

Tube diameter at bellows seating
12,7 mm (TRW-steering)

|

Suspended

Manufacturer Restriction: TRW
Pipe @: 14 mm

Axle Vers.: TRW

Tube diameter at bellows seating
12,7 mm (TRW-steering)

191 422 803

1H0 422 803 A

for steering gear ID: TRW

Cone Size: 14mm

only with: 299 000 029617
Length: 390 mm

Pipe @: 15 mm

Tube diameter at bellows seating
12,7 mm (TRW-steering)

1HO0 422 803 B

Length: 427 mm

Cone Size: 14 mm

Pipe @: 13 mm

only with: 30126 01, 299 217163
617

Manufacturer Restriction: ZF

Tube diameter at bellows seating 15
mm (ZF-steering)

Manufacturer Restriction: ZF
Length: 427 mm

Cone Size: 14 mm

Pipe @: 13 mm

Tube diameter at bellows seating 15
mm (ZF-steering)

1H0 422 8048

6K0 422 803 A

6K0 422 804 A

6K0 422 803

6K0 422 804

535411315

Suspension Rod
withaccessories

Suspension Rod
withaccessories

535411315




SEAT

191419811

Suspended

Length: 74 mm

Cone Size: 14 mm

Inner Thread: M14x1,5mm
with right-hand thread
withaccessories

Thread Size:M14x1,5

;

Suspended 191 419 812
Length: 74 mm

Cone Size: 14 mm

Inner Thread: M14x1,5mm
with right-hand thread
withaccessories

Thread Size:M14x1,5

1J0422 811E

with right-hand thread
withaccessories

withaccessories 1)0422 812 E

1HO 407 365

Thread Size: M12x1,5
with right-handthread

191407 151B

Control Arm

without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

1

Thread Size: M12x1,5 1HO 407 365
with right-handthread

bl

Control Arm 191 407 151 8B
without ball joint, withrubber
mounting

only with: 10169,10161
Sheet Steel

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

191407181D

for controlarm

for controlarm 191 407 182
Mounting Type:Rubber-metal
Bearing

) Lo

6261

6257

11161

11160

11162

-
178 H

11179

for controlarm 191 407 181 D

6261

|

o 6257

Qc_w
(-] 11161
. " I ‘ 11163

~ 11162

M 11180




SEAT
SEAT

01.1991 - 10.1999

TOLEDO I (1L)

11164 11165
- 11169
‘VI* — i
o@ 5413

S 3431

01.1991 - 10.1999

| TOLEDO I (1L)

4193 # 4193

1497 1497
2013 2013
2348

2348




TOLEDO 11 (
OEM

Info

1J0422 803 B

Info

04.1999 - 06.2015

SEAT

OEM

1J0422 803 B

10422 803 B

1J04228118B

Suspended
Inner Thread: M14x1,5mm
with right-hand thread

1J0422 804 B

1J0407 151A

Suspended
Inner Thread: M14x1,5mm

1J04228128B

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

with right-hand thread

1J0407 151A

1J0 407 181

for controlarm

1J0 407 181 SP

for controlarm

& for controlarm 191 407 182
Mounting Type:Rubber-metal
Bearing
for controlarm 1J0 407 181

6009

11017 i
®

3032

1036

2013

2014

2021

for controlarm

1J0 407 181 SP

6009

11018

3031

1036

2013

2014

2021




SEAT

TOLEDO 111 (5P2) 04.2004 - 09.2015

OEM Info F/R Type Type F/R Info OEM
1K0 423 810 A | with right-hand thread i o) @@= " | with right-hand thread 1K0 423 810 A
Thread Size: M16x1,5 6303 6303 Thread Size: M16x1,5
Length: 310 mm Length: 310 mm
1K0 411 315 B |Suspension Rod aEm o 5024 5024 aEmr o Suspension Rod 1K04113158B
= P
1K0423811) Thread Measurement 1:M16x1,5 = 3033 3034 = Thread Measurement 1:M16x1,5 1K0 423 812
Thread Size 2: M12x1,5 Thread Size 2: M12x1,5
1K0 407 365 B =l 4017 4018 =l 1K0 407 366 B
1K0 407 151 AB =l 1044 1043 =l 1K0 407 152 AA
1K0 501 529 F =l 1533 1534 =l 1K0 501 530 C
1K0 407 182 _[for controlarm =l o) 2023 2023 @@= for control arm 1K0 407 182
1KO0 505 465 C |Suspension Rod B B Suspension Rod 1KO0 505 465 C
. . 5452 5452 . .
withaccessories withaccessories
1K0 505 323 N B 1027 1027 B = 1K0 505 323 N
1K0 505 553 |for controlarm B 7 2022 2022 & |tor control arm 1K0 505 553
1KO0 505 171 C |for controlarm B 7 2024 2024 = for controlarm 1K0 505 171 C
1K0 505 203 A [for controlarm B 2025 2025 & |for controlarm 1K0 505 203 A
1K0 505 279 A [for controlarm o B 2026 2026 & ¥ for control arm 1K0 505 279 A
1K0 505 541 B |for drag link B 5 2015 2015 © B for drag link 1K0 505 541 B
@@. n
6303 ~ 6303
N
5024 ‘ - " "4 5024
3033 3034
=)
-
4017 a 4018
& e e e
1044 g 1043
533 N 5aa
2023 ‘ 2023
B 1N
5452 5452




SEAT

‘ TOLEDO Ill (5P2) 04.2004 - 09.2015
1027 1027
2024 , ' 2024
\ .‘ ‘
2025 2025
2026 2026
2015 2015
VENTO (1H2) 11.1991 - 09.1998
OEM Info F/R Type Type F/R Info OEM
1HO 422 803 B |Length: 341 mm = @@im | Length: 341 mm 1HO0 422 803 B
Thread Size: M14x1,5 Thread Size: M14x1,5
with right-hand thread with right-hand thread
for OE No.: 025 390 111 617LH 6261 6261 for OE No.: 025390 111 617LH
Manufacturer Restriction: ZF Manufacturer Restriction: ZF
Tube diameter at bellows seating 15 Tube diameter at bellows seating 15
mm (ZF-steering) mm (ZF-steering)
@@;
6261 6261



SEAT

CITIGO 12.1899 - 11.2015
OEM Info F/R Type Type F/R Info OEM
150 423 811 A =l 3437 3438 =l 150 423 812 A
6R0 407 365 =l 4014 4015 =l 6R0 407 366
191 407 182 |for controlarm i o) @@ | for controlarm 191 407 182
Mounting Type:Rubber-metal 2013 2013 Mounting Type:Rubber-metal
Bearing Bearing
1J0 407 181 |for controlarm izl 2014 2014 @@= | for controlarm 1J0 407 181
@@;
3437 3438
4014 4015
2013 2013
2014 2014




FABIA
OEM

Info

F/R

Type

6Q0 423 803 E

for steering gear ID: TRW

Length: 275 mm

Thread Size 2:M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

Type F/R

SKODA

12.1899 - 06.2015

Info

OEM

6Q0 423 803 A

for steering gear ID: SMI-Koyo
Length: 276,5mm

Outer Thread: M14x1,5mm
Thread Size:M16x1,5

:

for steering gear ID: TRW

Length: 275 mm

Thread Size 2:M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

6Q0 423 803 E

6Q0 419803 B

Length: 285,5mm

Thread Measurement 1:M14x1,5
Thread Size 2:M14x1,5
withaccessories

b

:

for steering gear ID: SMI-Koyo
Length: 276,5mm

Outer Thread: M14x1,5mm
Thread Size: M16x1,5

6Q0 423 803 A

6Q0 423 803 E

for steering gear ID: TRW
Electric-hydraulic
withaccessories

Length: 285,5mm

Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
withaccessories

6Q0 419 803 B

6Q0 419 803 B

withaccessories

6Q0 423 803 C

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

6Q0411315A

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size:M10

;

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

@@ | for steering gear ID: TRW 6Q0 423 804 E
Electric-hydraulic
withaccessories
=i withaccessories 6Q0 419 804 B
i io))

6Q0 423 804 C

6Q0419811C

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5

;

;

6R0 407 365

6R0 407 151

6Q0 407 151D

with rubber mounting
Sheet Steel
Control Arm

191 407 182

for controlarm
Mounting Type:Rubber-metal
Bearing

1J0 407181

for controlarm

6Q0 407 182 A

for controlarm

6Q0 407 183

for controlarm

1K0 407 183 E

for control arm
Replace in pairsonly:

=l
6260

6259

6262

11172

P —

Replace in pairsonly:

Suspension Rod 6Q0411315A
Length: 270 mm
Diameter [mm]: 9
Thread Size: M10
o) Length: 94 mm 6Q0 419 812 C
Cone Size: 16 mm
Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5
o) 6RO 407 366
izl 6R0 407 152
@@= .| with rubber mounting 6Q0 407 151D
Sheet Steel
Control Arm
@@L | for controlarm 191 407 182
Mounting Type:Rubber-metal
Bearing
@2 for control arm 1J0 407 181
@2 for control arm 6Q0 407 182 A
@2 for control arm 6Q0 407 183
@5 for control arm 1K0 407 183 E

P —

O 6260
6259
o 6262

11173




SKODA

11181

2351

11182

11175

5019

3436

4015

1500

1498

2013

2014

2349

2350

2351



FABIA (6Y2,

OEM

6Y3, 6Y5)

Info

F/R

Type

6Q0 423 803 A

for steering gear ID: SMI-Koyo
Length: 276,5mm

Outer Thread: M14x1,5mm
Thread Size:M16x1,5

Type F/R

SKODA

08.1999 - 08.2015

Info

OEM

6Q0 419803 B

Length: 285,5mm

Thread Measurement 1:M14x1,5
Thread Size 2:M14x1,5
withaccessories

®

for steering gear ID: SMI-Koyo
Length: 276,5mm

Outer Thread: M14x1,5mm
Thread Size:M16x1,5

6Q0 423 803 A

6Q0 423 803 E

for steering gear ID: TRW

Length: 275 mm

Thread Size 2: M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

:

Length: 285,5mm

Thread Measurement 1:M14x1,5
Thread Size 2: M14x1,5
withaccessories

6Q0 419 803 B

6Q0 419803 B

withaccessories

:

for steering gear ID: TRW

Length: 275 mm

Thread Size 2: M14x1,5

Thread Measurement 1:M14x1,5
withaccessories

6Q0423 803 E

6Q0 423 803 E

for steering gear ID: TRW
Electric-hydraulic
withaccessories

withaccessories

6Q0 419 804 B

6Q0 423 803 C

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

for steering gear ID: TRW
Electric-hydraulic
withaccessories

6Q0 423 804 E

6Q0411315A

Suspension Rod
Length: 270 mm
Diameter [mm]: 9
Thread Size:M10

®

for steering gear manufacturer: SMI-
Koyo

Electric-hydraulic

withaccessories

6Q0 423 804 C

6Q0419811C

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5

:

6Q0 407 151D

with rubber mounting
Sheet Steel
Control Arm

Length: 94 mm

Cone Size: 16 mm

Thread Measurement 1:M14x1,5
Thread Size 2:M12x1,5

@@=’ .| Suspension Rod 6Q0 411 315 A
Length: 270 mm
Diameter [mm]: 9
Thread Size: M10

e ) 600419 812 C

6Q0 407 182 A

for controlarm

6Q0 407 183

for controlarm

1K0 407 183 E

for control arm
Replace in pairsonly:

=

6259

6262

6260

11181

11172

11174

—

Replace in pairsonly:

@@= .| with rubber mounting 6Q0 407 151D
Sheet Steel
Control Arm
=l o) for controlarm 6Q0 407 182 A
@@ for control arm 6Q0 407 183
@@= 0| for control arm 1K0 407 183

—

6259

6262

6260

11182

11173

‘ 11175



FABIA (6Y2, 6Y3,6Y5)

5019

3435

1498

2349

SKODA

08.1999 - 08.2015

5019

3436

1498

2349

05.1989 - 09.1994

Info Info OEM
115500440 (Length:80mm Length: 80 mm 115 500 440
Inner Thread: M12x1 mm Inner Thread: M12x1 mm
with right-hand thread with right-hand thread
115420240 |Thickness/Strength: 17mm Thickness/Strength: 17mm 115 420 240
withaccessories withaccessories

FELICIA I/

10.1994 - 03.1998

OEM Info Type F/R Info OEM
007 350 285 N |Length: 305 mm Length: 305 mm 007 350 285N

QOuter Thread: M12x1 mm Quter Thread: M12x1mm

115500440 |Length: 80 mm @@=’ | Length: 80 mm 115 500 440
Inner Thread: M12x1 mm Inner Thread: M12x1 mm
with right-hand thread with right-hand thread

115420240 |[Thickness/Strength: 177 mm =l )| Thickness/Strength: 17mm 115 420 240
withaccessories withaccessories

6263 o o 6263



SKODA

FELICIA | / FELICIA Il

10.1994 - 03.1998

¢

l.

s...,
\
o

4194

09.1996 - 10.2015

3439
4194 )
dins
OCTAVIA (1U2,1U5)

OEM Info F/R Type
1J0 422 803 B =l
1J0 422 803 A |Length: 318 mm el )|

for OE No.: 025 390 142 617LH
1J0422803 |withaccessories =l o)
110 422 803 B e )|
110 411 315D i)
Suspension Rod
1J0 422 811 B |Suspended =l )|
Inner Thread: M14x1,5mm
with right-hand thread
10422811 |Inner Thread: M14x1,5mm il )|
with right-hand thread
withaccessories
1J0 407 151 A =l )|
1J0 407 181 |for controlarm =l )|
1J0 407 181 SP |for controlarm =l )|
191 407 182 |for controlarm =l )|
Mounting Type:Rubber-metal
Bearing
6009
6010
11013 H
(=]
11017 !
2
s @ h
3032

Type F/R Info OEM
1J0 422 803 B
@@LZl 0| Length: 318 mm 1J0 422 803 A
for OE No.: 025 390 142 617LH
@@ia) o)| withaccessories 1J0 422 804
i) 110 422 804 B
@@a | Suspension Rod 110 411 316 D
Length: 338 mm
Diameter [mm]: 10
@@’ | Suspended 1104228128
Inner Thread: M14x1,5mm
with right-hand thread
@@ Inner Thread: M14x1,5mm 110 422 812
with right-hand thread
withaccessories
o) 1J0 407 151 A
@2 for control arm 1J0 407 181
@2 for control arm 10 407 181 SP
@@= | for control arm 191 407 182
Mounting Type:Rubber-metal
Bearing
6009
6010
ﬂ-==-d 11014

i 11018
@

5023

3031




SKODA

OCTAVIA (1U2,1U5)

3502

1036

2014

2021

2013

09.1996 - 10.2015

3503

1036

2014

2021

2013

OCTAVIA (123,125) 12.1899 - 04.2015
OEM Info F/R Type Type F/R Info OEM
1K0 423 810 A |with right-hand thread P @@in | with right-hand thread 1K0 423 810A
Thread Size: M16x1,5 6303 6303 Thread Size: M16x1,5
Length: 310 mm Length: 310 mm
1K0 411 315 B |Suspension Rod etz Vo) 5024 5024 @@i2 .| Suspension Rod 1K0 411 315B
1K0 423 811K Thread Measurement 1:M16x1,5 i il Thread Measurement 1:M16x1,5 1K0 423 812 K
Thread Size 2:M12x1,5 3040 3041 Thread Size 2: M12x1,5
1KO0 407 365 B aimie) 4017 4018 aim ) 1KO0 407 366 B
1K0 407 151 AB aimie) 1044 1043 aimie) 1K0 407 152 AA
1K0 407 151 AA |Control Arm agin Vo) @@ia " .| Control Arm 1KO 407 152 AA
1037 1038
Sheet Steel Sheet Steel
1K0 407 151 AC i o)) 1039 1040 aim o)) 1K0 407 152 AC
1K0 501 529 F i o)) 1533 1534 iz o) 1K0 501 530 C
1K0199 231G iz o) 2027 2028 =) 1K0 199 232 G
1K0 407 182 |for controlarm el 2023 2023 @@= | for controlarm 1K0 407 182
1KO 505 465 C |Suspension Rod B 7 5452 5452 & ®&»|suspension Rod 1KO 505 465 C
withaccessories withaccessories
1K0 505 323 N B 5 1027 1027 B 5 1K0 505 323 N
1K0 505 553 |for controlarm B 5 2022 2022 & B for controlarm 1K0 505 553
1K0 505 171 C |for controlarm B 5 2024 2024 & B for controlarm 1K0 505 171 C
1K0 505 203 A |for controlarm B = 2025 2025 = for control arm 1K0 505 203 A
1K0 505 279 A |for controlarm B 5 2026 2026 & B for controlarm 1K0 505 279 A
1K0 505 541 B |for drag link B 2015 2015 o P& for drag link 1K0 505 541 B
= m m
6303 = = 6303
Nt =t




SKODA

OCTAVIA (1Z3,125) 12.1899 - 04.2015

5024 5024
3040 3041
4017 w 4018
Seee eee e
1044 1043
1037 1038
1039 1040
1533 1534
2027 2028
2023 2023
R /o))
5452 5452
1027 1027
2022 2022




SKODA

OCTAVIA (1Z3,125)

12.1899 - 04.2015

2024 2024
2025 2025
2026 2026
2015 2015
ROOMSTER (5)J) 12.1899 - 06.2015
OEM Info F/R Type Type F/R Info OEM
6Q0 423 803 A |for steering gear ID: SMI-Koyo =l )| =l o)) for steering gear ID: SMI-Koyo 6Q0 423 803 A
Length: 276,5 mm Length: 276,5 mm
Outer Thread: M14x1,5mm Outer Thread: M14x1,5mm
Thread Size:M16x1,5 Thread Size:M16x1,5
6Q0423 803 E for steering gear ID: TRW il il for steering gear ID: TRW 6Q0423803E
Length: 275 mm Length: 275 mm
Thread Size 2: M14x1,5 Thread Size 2: M14x1,5
Thread Measurement 1:M14x1,5 Thread Measurement 1:M14x1,5
withaccessories withaccessories
6Q0 423 803 E |for steering gear ID: TRW o) @@LE )| for steering gear ID: TRW 6Q0 423 804 E
Electric-hydraulic Electric-hydraulic
withaccessories withaccessories
6Q0 423 803 C |for steering gear manufacturer: SMI- aml )| @@= for steering gear manufacturer: SMI-| 6Q0 423 804 C
Koyo Koyo
Electric-hydraulic Electric-hydraulic
withaccessories withaccessories
6Q0 411 315 A |Suspension Rod =l o) =l Suspension Rod 6Q0 411 315A
Length: 270 mm Length: 270 mm
Diameter [mm]: 9 Diameter [mm]: 9
Thread Size:M10 Thread Size: M10
6Q0 413811 ¢ Length: 94 mm il il Length: 94 mm 6Q0413812C
Cone Size: 16 mm Cone Size: 16 mm
Thread Measurement 1:M14x1,5 Thread Measurement 1:M14x1,5
Thread Size 2: M12x1,5 Thread Size 2: M12x1,5
6RO 407 365 =l o) )| 6RO 407 366
6R0 407 151 i) )| 6R0 407 152
6Q0 407 151 D |with rubber mounting =l )| @@z | with rubber mounting 6Q0 407 151D
Sheet Steel Sheet Steel
Control Arm Control Arm
191 407 182 |for controlarm i )| “@L2P0 | for controlarm 191 407 182
Mounting Type:Rubber-metal Mounting Type:Rubber-metal
Bearing Bearing
1J0 407 181 |for controlarm i) @@L | for control arm 1J0 407 181
6Q0 407 182 A |for controlarm aeia o) @@= for control arm 6Q0 407 182 A
6Q0 407 183 [for controlarm aeia o) @@= for control arm 6Q0 407 183
1K0 407 183 E |for control arm e ) @@= for control arm 1K0 407 183
Replace in pairsonly: Replace in pairsonly:

—— ——
6259 6259
6260 O O 6260




SKODA

'—4 11173

11172
11174 - , ‘ 11175
5019 5019
3435 3436
e
4014 * 4015
e
1499 ? 1500
1498 ? 1498
2013 ‘ 2013
2014 Q 2014
2349 ' 2349
2350 2350
2351 . 2351




SKODA

SUPERB (3T4)
OEM Info Type
1K0 423 810 A |with right-hand thread

Thread Size: M16x1,5
Length: 310 mm

Type

F/R Info

12.1899 - 08.2015

OEM

with right-hand thread
Thread Size: M16x1,5
Length: 310 mm

1K0 423 810A

@@’ | suspension Rod

1K04113158B

Thread Size 2: M12x1,5

Thread Measurement 1:M16x1,5

1K0 423 812K

=l )| 1KO0 407 366 B
=l 1K0 407 152 AA
=i 1K0 501 530 C
@@Z2P 0| for control arm 1K0 407 182

2 2| suspension Rod 1KO 505 465 C

withaccessories

1KO0 411 315 B |Suspension Rod =l o)
1K0 423 811K Thread Measurement 1:M16x1,5 sl
Thread Size 2: M12x1,5
1K0 407 365 B P
1K0 407 151 AB =l o))
1K0 501 529 F =l o))
1K0 407 182 |for controlarm am o)
1KO 505 465 C |Suspension Rod o
withaccessories
1K0 505 323 N =
1K0 505 553 |for controlarm iﬁ|
1K0 505 171 C |for controlarm iﬁ|
1K0 505 203 A |for controlarm iﬁl
1K0 505 279 A |for controlarm iﬁl
1K0 505 541 B |for drag link @I

iz

6303

5024

3040

4017

1044

1533

N E 1K0 505 323 N
2@ for control arm 1K0 505 553
|for controlarm 1K0 505171 C
| for controlarm 1K0 505 203 A
iﬁl for controlarm 1K0 505 279 A
Ifor drag link 1K0 505 5418

2
®)
\

eee L

6303

“=—*'* ﬁ-‘ 5024

3041

4018

1043

1534




SKODA

SUPERB (3T4) 12.1899 - 08.2015

2023 2023
R /3
5452 h H 5452
ss] sa}
1027 1027

2022
2024 2024
2025 2025
2026 2026
2015 2015




SKODA

12.2001 - 08.2015

SUPERB (3U4)
OEM Info
4B0 419 801 B
8D0411317D
4B0 419 811 B |Outer Thread: M14x1,5mm

with right-hand thread

4F0419811D

Outer Thread: M14x1,5mm
with right-hand thread

8E0 407 509 A

Control Arm
with rubbermounting

4D0 407 693 AC

Control Arm
with rubber mounting
withaccessories

8E0 407 505 A

Control Arm
with rubbermounting

4D0 407 151 A

Control Arm
with rubber mounting
Aluminium

4B3 407 151C

Control Arm
with rubber mounting
Aluminium

4D0 407 181 H

for controlarm

4D0 407 182G

for controlarm

4D0 407 183 AB

Mounting Type: HydroBearing
for controlarm

Outer Diameter: 65,0 mm
Inner Diameter: 12,0 mm
Width: 80,0 mm

4B0 407 515
‘.--ag.
11019 ﬂ
5025
3035
3036 “—_l N
[ee
1052 ‘
1
gl w— &\
1046 W Qi
@S
1048 &
&l

Type F/R Info OEM
i o)) 4B0 419 8018
i o)) 8D0 411 318D
@@i=¥| Outer Thread: M14x1,5 mm 4B0 419 8118B

with right-hand thread
@@ao| Outer Thread: M14x1,5mm 4F0 419 811D
with right-hand thread
@@ia | Control Arm 8E0 407 510 A
with rubber mounting
@@ Control Arm 4D0 407 694 AC
with rubber mounting
withaccessories
@@’ | Control Arm 8E0 407 506 A
with rubber mounting
@@ Control Arm 4D0 407 151 A
with rubber mounting
Aluminium
@@ | Control Arm 4B3407 151C
with rubber mounting
Aluminium
@2 for control arm 4D0 407 181 H
ﬁl for controlarm 4D0 407 182G
=) Mounting Type: HydroBearing 4D0 407 183 AB
for controlarm
Outer Diameter: 65,0 mm
Inner Diameter: 12,0 mm
Width: 80,0 mm
il o)) 4B0 407 515
éc
5026
j’: i 3035
“—- 3036
Lo
1051
1047
1049




SKODA

| SUPERB (3U4)

IL )
1045 ' ! g
CL Y-

12.2001 - 08.2015

1045

/
1057 1057
2029 2029
2030 2030
2031 2031
2034 2034

Thread Size: M16x1,5
Length: 310 mm

1K0 423 811K

Thread Measurement 1:M16x1,5
Thread Size 2: M12x1,5

Thread Size: M16x1,5

Length: 310 mm

SUPERB (3U5) 12.1899 - 09.2015
OEM Info Type F/R Info OEM
1K0 423 810 A |with right-hand thread & with right-hand thread 1K0 423 810 A

Thread Measurement 1:M16x1,5
Thread Size 2: M12x1,5

1K0 423 812K

1K0 407 182

for controlarm

for controlarm

1K0 407 365 B acmle) 1K0 407 366 B
1K0 407 151 AB acmle) 1K0 407 152 AA
1K0 199 231 G =l o) 1K0 199 232 G

1K0 407 182

1K0 505 323 N 1K0 505 323 N
= 2oW
6303 6303
3040 3041
4017 4018
8e e &
1044 1043




SKODA

SUPERB (3U5)

12.1899 - 09.2015

2027 ,' . 2028
2023 2023
B 73
1027 1027
YETI (5L) 12.1899 - 09.2015
OEM Info F/R Type Type F/R Info OEM
1K0 423 810 A |with right-hand thread etV @@= | with right-hand thread 1K0 423 810 A
Thread Size: M16x1,5 6303 6303 Thread Size: M16x1,5
Length: 310 mm Length: 310 mm
1KO0 411 315 B |Suspension Rod i) 5024 5024 @@= | Suspension Rod 1K0 411 315 B
1K0 423 811K Thread Measurement 1:M16x1,5 . 3040 3041 = Thread Measurement 1:M16x1,5 1K0 423 812K
Thread Size 2: M12x1,5 Thread Size 2: M12x1,5
1KO0 407 365 B etz Vo) 4017 4018 etz Vo) 1K0 407 366 B
1KO 407 151 AB etz Vo) 1044 1043 etz Vo) 1KO 407 152 AA
1K0 199 231 G etz Vo) 2027 2028 etz Vo) 1K0 199 232 G
1K0 407 182 |for controlarm im0 2023 2023 @@= | for control arm 1K0 407 182
1K0 505 465 C |Suspension Rod B 7 Suspension Rod 1K0 505 465 C
) ) 5452 5452 ) )
withaccessories withaccessories
1K0 505 323 N R 77 1027 1027 R 77 1K0 505 323 N
1K0 505 553 |for controlarm B 73 2022 2022 & @& for control arm 1K0 505 553
1KO0 505 541 B |for drag link 77 2015 2015 "o B for drag link 1KO 505 541 B

6303

3041




SKODA

S 4018

1044 1043
2027 2028
2023 2023
/)
5452 5452
1027 1027
2022 2022
2015 2015




